	
Lesson 3 Homework



	
LT 1.3



	
2, 5, 13-19 odd, 24, 33, 43
(write all formulas for #17, 19, 33, & 43)
(simplify all square roots in #33&43.  No decimals!)
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* = STANDARDIZED TEST PRACTICE
Exs.2,23,34,41,42,and 53

1. VOCABULARY Copy and complete: To find the length of AB, with
endpoints A(~7, 5) and B(4, —6), you can use the_?_.

2. % WRITING Explain what it means to bisect a segment. Why is it
impossible to bisect aline?

FINDING LENGTHS Line / bisects the segment. Find the indicated length,
onp.15 RS = 511, . , _5 5. S EF— 13
P10 3. Find RTIf RS = 55 in. 4. Find UWif VW = Zin. . Find EG if EF = 13 cm,

:

w E F| G
Find LMif LN = 137 mm.
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2. % WRITING Explain what it means to bisect a segment. Why is i
impossible to bisect a line?

FINDING LENGTHS Line / bisects the segment. Find the indicated length.

e A - 25 e
(Y 3. Find RTIfRS = 5y in. 4. Find UWif VW =2in. 5. Find EGif EF = 13 cm.
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6. Find BCif AC = 19 cm. 7. Find QRif PR = 9; in. 8. Find LMif LN = 137 mm.
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9. SEGMENT BISECTOR Line RS bisects PQat point R. Find RQif PQ = 4 inches.

10. SEGMENT BISECTOR Point T bisects UV. Find UVif UT =

7 inche:
7 inches.

@) ALGEBRA In each diagram, M is the midpoint of the segment. Find the
indicated length.

1. Find AM. 12. Find EM. 13. Find JM.
x+5 2 o mes Bt xS
N I3 ¢ H I3 4 M 13 1
14. Find PR. (3) Find su. Find XZ.
-1 10x-5t Xt o wi® -z
¥ ] 7 s ] ] X 13 H

FINDING MIDPOINTS Find the coordinates of the midpoint of the segment
with the given endpoints.

17. €(3,5) and D(7,5) 18. E(0,4) and F(4,3) 19. G(~4,4) and H(6, 4)

20. J(-7,-5)and K(-3,7) 2L P(-8,-7)and Q(11,5)  22. §(~:

,3) and T(~

, 6)
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24. ERROR ANALYSIS Describe the error made in
finding the coordinates of the midpoint of a
segment with endpoints S(8, 3) and T(2, -1).

(
\

8-2 3= (1)
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DISTANCE FORMULA Find the length of the segment. Round to the nearest
tenth of a unit.

3L 4y 32,
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COMPARING LENGTHS The endpoints of two segments are given. Find each
segment length. Tell whether the segments are congruent.

(0.2), B(-3,8) 44. EF: E(1,4), F(5,1) 45.
~2,2), D(0, —4) GH: G(=3,1), H(1,6) IM:

J(-4,0), K(4,8)
(~4,2), M3, =7)





